d S8. What is the average rate of the wind?

A) 30 mph  B) 36 mph C) 38 mph D) 40 mph E) 42 mph

Z

O 59. How long did the jet fly with the wind?

A) 2.25 hours B)2.5hours C) 2.7S hours D) 3 hours E) 3.25 hours

m\ 60. How long did the jet fly against the wind?

A) 2.2S hours B) 2.5 hours C) 2.7S hours D) 3 hours €) 3.25 hours

Solve the problem; round to the nearest tenth when necessary.

Jan can complete a project in 40 hours. Rebekah can complete the same project in 32 hours. A
deadline for the project was issued so their supervisor assigned them to work together on the
same project. Let x represent the number of hours it took them to complete the project
together. Lo-5S

61. How much of the project will Jan complete every hour? o M

62. Write a rational expression to represent how much of the project Jan will complete in x
hours.

63. How much of the project will Rebekah complete every hour?

64. Write a rational expression to represent how much of the project Rebekah will complete in
x hours.

65. Write a rational expression representing Jan and Rebekah working together to complete the
project.

u SP+PHH

1 X X
Bl ot = —+—=72
>v8+w~|x B) 40x+32x=1 Quo+w~ o 32

66. How long will it take them to complete the project together? (Round to the tenths of an

hour.)

Choices for 61-64 and 66:

1 1 1 1 1 ag) X
= = (o D) — E)
\3 m B) 5 ) 3 ) 2 20 am
4
4 X X X Rl BE) —
= = 2 BC) — BD)
\>Q : AD) P AE) = ) 20 ox Ax
\ €D) 12.4hrs | CE) 12.6hrs | DE) 15.2 hrs | ABC) 16.3 hrs ABD) 16.8 hrs | ABE) 17.8 hrs

Solve the problem; round to the nearest tenth when necessary.

67. Jesse can mow his yard in 1 hour and 15 minutes. if his older brother Jared mows with Jesse
they can complete the yard in 30 minutes. How long does it take Jared to mow the yard by

himself?

A) 45 min B)42.5min (C)482min D) 50 min £)43.8 min
A movie rental company charges $17.50 per month for membership and $0.50 rental fee per
movie.
68. Let x represent the number of movies rented in a month. Write an expression for the total
cost per month based on x number of movie rentals.

A) 17.50 + 0.50x B) 18.00x C) 17.50(x + 0.50) D) 0.50(17.50 + x}

69. Write an expression that represents the cost per movie rental.

A) 17.50(x + 0.50) 8) 0.50(17.50 + x) o) 18.00x D) 17.50 + 0.50x
X X 0.50 x

70. Write a rational equation to find the number of movies needed to be rented to make the

cost per movie rental $1.75.

: 7: f 5
A) 0.50(17.50+x) _, 4¢ gy 20 050% .o
X P 4
Q) 18.00x _, 4 D) 17.50(x+0.50) _, ¢
0.50 X

71. Find the number of movie rentals needed to make the cost per movie rental $1.75.
A) 12 movies B) 14 movies C) 15 movies D) 16 movies E) 18 movies
A small college had enrolled 319 female freshmen and 240 male freshmen for the upcoming

semester. How many more male freshmen would need to be enrolled so that 45% of the
incoming freshmen were males?

72. Let x represent the number of male freshmen that need to be enrolled. Write a rational
equation to solve this problem.
240 4s 280+x A4S
2A0E, A5 Elx-nhml XD =
559 100 559 100 559+ x 100

A)

73. How many more male freshmen need to be enrolled?

A)8males B)12males ()21 males D) 38 males E) 99 males
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74. Identify any excluded values for x. (Select ALL excluded values for the inequality.)

A) -3 B)O gL D) -1
3 )73 B2
75. Write the inequality as an equation. Find the solution.

A) 13 B) 12 Qe D) 18 E) 15

76. Divide the number line into intervals, test the intervals, and graph the solution.

A) —+ + - ) Ot .
Y A T 2 14716 18 20
B) — +—m O—
6 472 0 2 4 6 8 10 12 14 16 I8 20
C i ——t - + : . +—(» $—
D U 2 4 6 s 101 1u’ 1
— g + ; - . ; : + i
O FET05 0 2 4 6 8 10 12 14 16 18 20

; } ' 4 -

E) O—r P
€T 2 2 4 6 8 10 12714 16 18 20

77. Write the solution of the inequality.

1
A) x<-3 orx>18 EXAIMo;va C) 0<x<15

D) -3<x<18 E) x<0orx>15
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Find the indicated information for the inequality.

10 4
2x+1 3

78. Identify any excluded values for x. (Select ALL excluded values for the inequality.)

1 1
A)-2 B)-1 03 O} =3 E)0

79. Write the inequality as an equation. Find the solution.

A)3 B)S c)e6 D)7 E)9

80. Divide the number line into intervals, test the intervals, and graph the solution.

r_.\) \l/
AN Y01 2 3 4 5 6 7

oo+
o4+
ot
o

B)

g =s—=0 )
3 291 0 1 2 3 4 5 6 7 8 9 10

D) —g O+
32 170 1 2 3 4 5 6 8 9 10
E) — . O— f————+
3 32 101 2 3 4 5 8 7 8 9 10
81. Write the solution of the inequality.
A) —1<x<9 B) -2<x<6 QIWA:AM
D) x<-20rx>6 mvaIWo;vu
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Find the indicated information for the inequality.

8 9 5
x|mxl>|x~|wx+~o

82. Identify any excluded values for x. (Select ALL excluded values for the inequality.)
A) -5 B) -4 c)o D)4 E)S
83. Write the inequality as an equation. Find the solution.

A)-2 8)1 0a D)8 )12

84. Divide the number line into intervals, test the intervals, and graph the solution.

o
A
;
o4
N+
w
§

85. Write the solution of the inequality-

A)a<x<50rx=8 B) _S<x<—-4orxz-1 C) x<20r4<x<5

9xM|~oqAAxAm E) 5<x<—4orxz1

Lesson 3.8 _Graphin Reciprocal Functions

Q 1
For 86-95, find the indicated information for the given function: Alx)= = 3"
86. a Choices for 86-88:
87. h Y EE 0-1 D) 2
1 1
- AB) — AC) —=
88. k E)-2 ,N ) 3

89. Compare A{x) with the parent function f(x)= e

x
ALL choices that apply.

A) Reflection over the x-axis

B) Vertical stretch C) Vertical shrink

D) Horizontal shift left E) Horizontal shift right
BC) Vertical shift up DE) Vertical shift aoi,s

90. Vertical asymptote

Choices for 90-91:
91. Horizontal asymptote

by describing the transformations. Select

[mx=0 [B1x=1 [arx=-1 D)x=2

[ABy=0 |ACly=1 |ADly=-1 |ABy=2

92. Domain Choices for 92-93:

93. Range A) All real numbers

B) All real numbers except 0
) All real numbers except -1 D) All real numbers except 1

£) All real numbers except -2 AB) All real numbers except2
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4. :
94. Graph For 96 — 105, find the indicated information for the given function: C(x)= 1 5 3.
X+
A) ¢
H : B)
4 f 3 )
3 __ 2 96. a Choices for 96-98:
]
2 ] 1
: i p 97. h A)O B)1 Q-1 D) 2
L =l E)-2 AB) 3 AC) -3
w 3 4 s & 1 7 2 98. k ) )
H 3
i
!
__ 99. CompareC(x) with the parent function f(x)= 1 by describing the transformations. Select
i x
{ ) ALL choices that apply.
A) Reflection over the x-axis
Q . . B) Vertical stretch C) Vertical shrink
i D) 7 D) Horizontal shift left E) Horizontal shift right
; 6 AB) Vertical shift up BC) Vertical shift down
! 5
H 4
H 3
m 3 oy R N T DO A e e
R T 2 3 :
i -1 3
2 S 4 3 2 T 2 3 4 5
3 100. Vertical asymptote Choices for 100-101:
-4
. s E 101. Horizontal asymptote A)x=0 Blx=1 Cjx=-1 D)x=2 E)x=-2
AB)x=3 - | AC)x=-3 AD)y=0 AE)y=1 BC)y=-1
BD)y=2 BE)y=-2 CD)y=3 CE)y=-3 | DE)None
95. End behavior
A) A(x) > —2 as x —> —oo and A(x)—> -2 as x -+
B) A(x)—>2asx—>—o and A(x) = 2 as x =+
102. Domain Choices for 102-103:
C) A(x) >0 asx —>—x and A(x) = 0 as x = +©
103. Range A) All real numbers B) All real numbers except 0
D) A(x) —>1as x —> —oo and A(x) > 1as x = += C) Al real numbers except -1 D) All real numbers except 1
E) All real numbers except -2 AB) All real numbers except 2
AC) All real numbers except -3 AD) All real numbers except 3
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